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Question Id : 92090613569 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

el fau U T ®1 eyde Uge] Ui & I -

arad # S2-UH ol 98 TUEA ¢ S 4H, SIfd, 59 & WEHIG DI g B Udhdl & 3R YR #
Fa@! fiRkl a1 81 |G &1 HHi0l WG B g B o WA g faume wgeadn, @,
eHHfA Ud ISRd1 $T U3 UGl 81 3k 2 UF o fay 7 U1 Ud Aaiy &1 Uy SuHE
gg HIFd ged &1 WrHIfd® gt g1 fayad 341 &1 Fard g1 1 Yadrdt 391 Wew d o4 ¥
Jqudd d® &, BRI Ud Hie-Agdl A & G- gial g; R ol Jrgyf @ 3@ Im
3felifre gl g |

fOh= SHRT 2 HURd i fay & GHwd 330 & Yerad 8| IR T UieR fdag 7iRd favre uiey @1
Jullyd ard feured it goe 81, Yo afémn ¥ faxma 9rR forgd aFd =Rl &1 gERr
TE1 81, 9] W NShdd JHY-H0g U SOl UH UTaH SATHT &1 gerdl 8, s Aiarer |
IHEd A B Fadl ©id O Udld 8idl 8, AH UPfa aararsd el A&l ggad 3R
urddt #1 ufdzar yrRu S PR W iy g &t |reqr $a o W8 81, e oft Set
HIAR T | 71Rd &1 3HT B g, Tl gHId HRa Y A 59 3y &1 U\ 9 ghme

Sub questions

Question Number : 1 Question Id : 92090613570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dE S H-91 A & ol Hgurd R gia Udhdl R g oIl 82

(1) fIme g (2) W-IW
(3) HFG-UH (4) @ e
Options :

92090653601. 1
92090653602. 2
92090653603. 3
92090653604. 4

Question Number : 2 Question Id : 92090613571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



919 1 Fu U U € UF SHTHBYA (Assertion A) & ¥ # fifad @ Ot g1 39D BRUI
(Reason R}%F‘I ff;

HYFYT A - SOl fay & UF ¢d 7FE 0H 61 UYH S 8| TR & SER)
PRUIR : Og "4 gad @ Widifa® gl gl
JSWRIF HYF & 3l |, 1 S0 710 fdwedl § 9 ¥l I &1 994 $ifou

(1) ASIRRGH U™ € SRR, A DI Hol ARAT &

(2) AJRRGH THE, AFTR A D U BT el &
(3) AUIE AMBAR AT

4) AHAE AlPTRITE

Options :

92090653605. 1
92090653606. 2
92090653607. 3
92090653608. 4

Question Number : 3 Question Id : 92090613572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b e A ATy 8-

(1) et (2) S
(3) dHHg (4) ®:%g
Options :

92090653609. 1
92090653610. 2
92090653611. 3
92090653612. 4

Question Number : 4 Question Id : 92090613573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘e Uea PI A -
(1) WIeifdd (2) URSTHS
(3) diipd (4) SEAH

Options :



92090653613. 1
92090653614. 2
92090653615. 3
92090653616. 4

Question Number : 5 Question Id : 92090613574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR I 1 Iugad e g -

(1) <A (2) SNUH B HEd
(3) HRIRIIW (4) WA HEH
Options :

92090653617. 1
92090653618. 2
92090653619. 3
92090653620. 4

Question Id : 92090613569 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

i feu U =i &1 eHYde Ugdr uHl & I -

dRad § SU-UH o 98 TEA © o yH, S1f), 59 & HeHd B g IR Uhdl & IR YA §
Faa! fokl a1 81 |G &1 B0l HId B g B o U9 g f9eme wged), @A,
eHHfA Ud ISRd1 T UIS UGl g1 3k 0 UF o fay 7 U1 Ud Haid &1y SuHE g
gg U4 g3d &1 WiHifa® git 81 fayad 3@ &1 Fard 81 a1 yaarft 3961 Wew o o4 4
qgud d% &P, HRdl U9 Hig-sdl 9 &1 HA1 gl &; T il argyf@ & 3@ oW
3clifdbe grar g |

o= SHRT &2 HURA dl fay & GHwd <30 # Gerad 8| IR ¥ IR e 7iRa favre dey @1
geityyd waTe fewrera forgest Hoe g, Yo afémn # fana R o wid =Rl &1 uERr
TE1 1, O] W NShqd JHY-THG R SOl URH TG T4 &I qerdt 8, ord Aiarer |
IS A4 B Iadl Bfd T ydld gl 8 7 UPfa Hareisd el Wrdl ugaee o
Ut F1 ufdzar yRu S MRS W iy fRrg &t areEr S o W8 81, Sa oft et
HIIR A T 7RG &1 3fJHd B &, Ol gt YRd YT 9 59 S(uF &1 39 = gem?

Sub questions

Question Number : 1 Question Id : 92090613570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

a8 HH-91 T9AA & forad "eyTd g gl Udhdl R gl oifd 82

(1)  faend ggegar ) <U-IW
(3) HHE-UH (4) & n
Options :

92090653601. 1
92090653602. 2
92090653603. 3
92090653604. 4

Question Number : 2 Question Id : 92090613571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 YA AU U § U HUSYA (Assertion A) F ®U ¥ ffEd g O g IS HRUI
(Reason R;%Fcr ﬁ;

AMYBYT A : U UE ol fay ¥ U9 Ud WG UF &1 Uy |9 § | (TR & 3FAER)
FRUR : Ug HI-d gad &1 WIHifas® gil gl
JURIF HYA & 3clid |, i S0 710 [dbedl & 9 "l 3 &1 994 $ifelw

(1) ASRRIA T E SRR A D Tel AT &

(2) AJRRIATAE, AFTR A B Ul ARAT el &
(3) ATIE AR AR

@) ASEAE APTRITR

Options :

92090653605. 1
92090653606. 2
92090653607. 3
92090653608. 4

Question Number : 3 Question Id : 92090613572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nghq' sc A AT 8-

(1) gl (2) 9
(3) dH®Bg 4) B: B
Options :

92090653609. 1
92090653610. 2
92090653611. 3
92090653612. 4

Question Number : 4 Question Id : 92090613573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3l s P fdeld -

(1) Wl (2) URcidE
(3) e (4) 3ZEdA®
Options :

92090653613. 1
92090653614. 2
92090653615. 3
92090653616. 4

Question Number : 5 Question Id : 92090613574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl T 1 ug e i g -

(1) WA (2) SN UH B HEd
(3) HRAITW (4) TRISY HEH
Options :

92090653617. 1
92090653618. 2
92090653619. 3
92090653620. 4

Sub-Section Number : 2
Sub-Section Id : 920906441
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 6 Question Id : 92090613575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt weg # o9 ¥4 @ U uerd a1 sufda &1 |1y 81T &-
A T

B. UdhddH
C. ddd

D. dgdad
S
414 fu U ol # 9 ¥ad Iugdd IR &1 999 SIS

(1) dd A B
(2) dd B
(3) @ad C, D
(4) &dd D

Options :

92090653621. 1
92090653622. 2
92090653623. 3
92090653624. 4

Question Number : 6 Question Id : 92090613575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



famrt wreg 7 forg wu ¥ us yard a1 safdd &1 iy giaT &-
A &g

B. UdhddH
C. ddd

D. ®gddd
E. &l
1 fau 1 faeedl # 9 9e8 IUge IR BT 90 Difor

(1) &dd A B
(2) dd B
(3) @dd C, D
(4) &dd D

Options :

92090653621. 1
92090653622. 2
92090653623. 3
92090653624. 4

Question Number : 7 Question Id : 92090613576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y g 1| & A S

- -l
(a) Tewreg | i Faerdt 81 () HuaH
(B) M F fore Hrar a7 5| () SAHBUERS
(€ TSHUHIAMIEEI () 3UEH
(D) ©dIER-GR YA @I ¢ (IV) HUBRS

2 fau 7u fasedi # 9 9 IR &1 994 Difr;

(1 (A=), (B)-(, (O)-(IV), (D)-(II)
(2) (A0, (B)-(I), (C)-(l), (D)-(IV)
(3) (A=), (B)-(IV), (O)-(li), (D)-(1)
(4)  (A)-(V), (B)-(11), (©)-(1), (D)-(1)



Options :

92090653625. 1
92090653626. 2
92090653627. 3
92090653628. 4

Question Number : 7 Question Id : 92090613576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | & Iy gt 1 1 e S

- -l

(A) fewTea @ i FAeed g1 () HUEH
(8) IM & fou W aa M| () SAFHUHERS
(€) TSHIUH AW IEI 6 () SareH
(D) WdIgR-gR 9 &1 71 (IV) SUHRE
19 fau U fasedl 7 § gl IR F1 994 SIS

(1) (A=), (B)-(I), (C)-(IV), (D)-()

(2) (A1), (B)-(l), (C)-(In), (D)-(1V)

(3)  (A)-(I), (B)-(IV), (C)-(1), (D)-(1)

(4)  (A)-(IV), (B)-(11), (C)-(1), (D)-(111)
Options :

92090653625. 1
92090653626. 2
92090653627. 3
92090653628. 4

Question Number : 8 Question Id : 92090613577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C. oad

D. farst

E. SagHl

1< 13 1T faeel # 9 Hel IR &1 997 Bifee :
(1) dd AE

(2) dd B

(3) @dd C
(4) &dd D, E

Options :

92090653629. 1
92090653630. 2
92090653631. 3
92090653632. 4

Question Number : 8 Question Id : 92090613577 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C. oad

D. fHursT

E. SagHl

1< 13 1T faeel # 9 Hel IR &1 997 Bifee :
(1) dd AE

(2) dd B

(3) @dd C
(4) &dd D, E

Options :

92090653629. 1
92090653630. 2
92090653631. 3
92090653632. 4

Question Number : 9 Question Id : 92090613578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ddifad &1 IUgd IR 94 Bl

ST ot i, 7T 1 AT

(1) IS TG (2) Udl & 3 R AT @A

(3)  HHI @A, A8l dl yEn (4) olt /¢t A B Toban, I A Ag] @l
Options :

92090653633. 1
92090653634. 2
92090653635. 3
92090653636. 4

Question Number : 9 Question Id : 92090613578 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ddifad &1 IUgd IR 94 Bl

ST ot i, 7T 1 AT

(1) S TG (2) Udl & 3 R AT @A

(3)  HHI @A, A8l dl yEn (4) olt /¢t A B Toban, I A Ag] @l
Options :

92090653633. 1
92090653634. 2
92090653635. 3
92090653636. 4

Question Number : 10 Question Id : 92090613579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aTe H W@ifehd Y Ueg & R W Y sk I
39 GBI f TTRAT SR 1R ¥ SEHR 181 faoaT i g

(1) 3R 2) TR
(3) FABR (4) TAPR
Options :

92090653637. 1
92090653638. 2
92090653639. 3
92090653640. 4

Question Number : 10 Question Id : 92090613579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aTe H W@ifehd Y Ueg & R W Y sk I
39 GBI f TTRAT SR 1R ¥ SEHR 181 faoaT i g

(1) 3R 2) TR
(3) FABR (4) TAPR
Options :

92090653637. 1
92090653638. 2
92090653639. 3



92090653640. 4

Question Number : 11 Question Id : 92090613580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 cm BT % T TR 1 T AR - {,T: %Ej

7
(1) 4158 cm? (2) 540 cm?
(3) B16cm? (4) 280 cm?
Options :

92090653641. 1
92090653642. 2
92090653643. 3
92090653644. 4

Question Number : 11 Question Id : 92090613580 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 cm 1 3 U@ 1710 T Ui A - {,T: %Ej

7
(1) 4158 cm? (2) 540 cm?
(3) 616 cm? (4) 280 cm?
Options :

92090653641. 1
92090653642. 2
92090653643. 3
92090653644. 4

Question Number : 12 Question Id : 92090613581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FaH > FTAA FE B

784 +14 +598 +13 +? =99% of 2500

(1) 2475 (2} 2373
(3) 2565 (4) 2285
Options :

92090653645. 1
92090653646. 2
92090653647. 3
92090653648. 4

Question Number : 12 Question Id : 92090613581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{9 7 2 T {9 ;T B

784 +14 +598 +13 +? =99% of 2500

(1) 2475 (2) 2373
(3) 2565 (4) 2285
Options :

92090653645. 1
92090653646. 2
92090653647. 3
92090653648. 4

Question Number : 13 Question Id : 92090613582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

digri & fei # @l 9a § us g 9 Gt a¥gsii R 10% @ &1 9o 3t sifdéd g
% 1450 B Ud Sidbe qyl 3ifdhd T 3850 UAD DI &1 Bl W TR UH Ugd B fbat
R ger1 gfe

(1 %2735 (2) 32835
(3) 33150 (4) %2935
Options :

92090653649. 1
92090653650. 2
92090653651. 3
92090653652. 4



Question Number : 13 Question Id : 92090613582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

digril & &1 7 &l 9a # Us g A Gt a¥gsfi R 10% §e &1 9o 3t sifdd g
% 1450 B Ud Sibe qyl 3ifdbd e 7850 YD DI 1 Bl Wa- W Uh Agd B fbant
A I grit?

(M 2735 (2) 32835
(3) 33150 (4) %2935
Options :

92090653649. 1
92090653650. 2
92090653651. 3
92090653652. 4

Question Number : 14 Question Id : 92090613583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud ®R 12 e § 20 km T St g1 TfE 39T 7T BT 20 km/h T2T S S A1 I8 G116
a4 & H faod=1 w1y @imm?

i 1
(1 E'EI'EI (2) 3 Hdl
7 LA i ..
3 — Hcl 4) —Hcl
(3) 3 (4) 2
Options :

92090653653. 1
92090653654. 2
92090653655. 3
92090653656. 4

Question Number : 14 Question Id : 92090613583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U ®R 12 [ # 20 km 79 S0 €1 fe S8BT 711 BT 20 keny/h 2T & WU 1 I g8 &1
ad &34 | fbd=1 gHg @

I 1 .
1 [ 2) =
M 3 (2) EETEI

7 ;
3 — YdI 4) — NI
(3) 3 (4) 2
Options :

92090653653. 1
92090653654. 2
92090653655. 3
92090653656. 4

Question Number : 15 Question Id : 92090613584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$© M FYRON 4TS R 3 a8 H 214,880 U1 5 T4 T 716,800 Bl SIcH & | T @1 & Fd
C2l

(m 6.5% (2) 7%
(3) 8% (4) 8.25%
Options :

92090653657. 1
92090653658. 2
92090653659. 3
92090653660. 4

Question Number : 15 Question Id : 92090613584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$© M FYRON 4TS R 3 a8 H 214,880 U1 5 T4 T 716,800 Bl SIcH & | T @1 & Fd
C2l

(m 6.5% (2) 7%
(3) 8% (4) 8.25%
Options :

92090653657. 1
92090653658. 2



92090653659. 3
92090653660. 4

Question Number : 16 Question Id : 92090613585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AS®! B HaAR H Yaq A F Ugedi g1 o I9& 3 8, I9& Wi i 71 81 Y& iR
FaR & HH BR Y TIdd 5 & AW fha-l d8& &7

(1 33 (2) 34
(3) 35 (4) 36
Options :

92090653661. 1
92090653662. 2
92090653663. 3
92090653664. 4

Question Number : 16 Question Id : 92090613585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSP B! HaAR H Yd- 3AF J Uggdi g1 g 39 3 €, I9P e i 74 €1 Yad 3R
FHdR $ H~H BR ¥ 91ad dsd & A a1 a5& 87

(1 33 (2) 34
(3) 35 (4) 36
Options :

92090653661. 1
92090653662. 2
92090653663. 3
92090653664. 4

Question Number : 17 Question Id : 92090613586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



®YT: U YRA9Y § $Had U [qyfderey g angu

dd |- 39y f[aenfidl grr ure @ s Uit Al 34 &g 9ed gl
I:  Nefirs AFST H UhEUd aF & e 38! UhHE IRl B

SR H W $H HI@) b HYF ST AL HIA1 8?2

(1) Paddsd |

(2) Fadas

(3) TPISRTD I

4) AgidabIRAE T Il
Options :

92090653665. 1
92090653666. 2
92090653667. 3
92090653668. 4

Question Number : 17 Question Id : 92090613586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
®ud:  ggof YRaay § Fad U [ayfaened g afgu
db | 399 faefdal gry v @ g Uil il ¢ gq "ewd gl
Il:  N&fOrs AFST H UhHETdl aF & T 38! ThHE IR B
SURIE H A B HI(@) a0 HU BT YA HIA1 82

(1) FHaadd|

(2) Fadd®

(3) dPISRTAD Il

4) A ddIRA TS Il
Options :

92090653665. 1
92090653666. 2
92090653667. 3
92090653668. 4

Question Number : 18 Question Id : 92090613587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ot U1 |1 B

AN
NE/N\2/4e\7/
/NN 5N\

W

-

(1 13 ) 14
(3) 20 4) 21
Options :

92090653669. 1
92090653670. 2
92090653671. 3
92090653672. 4

Question Number : 18 Question Id : 92090613587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o HEAT [ Y

/N
AN
N/

R

m 13 ) 14
(3) 20 4) 21
Options :

92090653669. 1
92090653670. 2
92090653671. 3
92090653672. 4

Question Number : 19 Question Id : 92090613588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1= &t snepfa 7 Brpior o1 e J1d

(M 48 (2) 42

(3) 44 (4) 38
Options :

92090653673. 1
92090653674. 2
92090653675. 3
92090653676. 4

Question Number : 19 Question Id : 92090613588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e <t snepfa A BPepion 1 Hem I1d

(1) 48 (2) 42

(3) 44 (4) 38
Options :

92090653673. 1
92090653674. 2
92090653675. 3
92090653676. 4

Question Number : 20 Question Id : 92090613589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

12 & aapfa (x) W Sd-Bid 1 ugaH &Y

(4)

3 (X)

ee

Options :

92090653677. 1
92090653678. 2
92090653679. 3
92090653680. 4

Question Number : 20 Question Id : 92090613589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &t i (x) H Sd-Bid & ugaH H

(4)

3G (X)

ee

Options :
92090653677. 1



92090653678. 2
92090653679. 3
92090653680. 4

Question Number : 21 Question Id : 92090613590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRAaY &1 UYH S0 & AFd A1 &1 o o 96dl

(1) &0 (2) o
(3) =g (4) IS4 @er
Options :

92090653681. 1
92090653682. 2
92090653683. 3
92090653684. 4

Question Number : 21 Question Id : 92090613590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRAAY $1 UYH S0 S\l AFd 1] &1 & o Ybdl 8

(1) d&10 (2) ®©d
(3) TF3S (4) TS @
Options :

92090653681. 1
92090653682. 2
92090653683. 3
92090653684. 4

Question Number : 22 Question Id : 92090613591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR Sy & & srgede & sraria I smuer diftd &1 St 87

(1) 3f3dq 342 (2) S5 350
(3) ST 362 (4) 3FTdE 352
Options :

92090653685. 1
92090653686. 2
92090653687. 3
92090653688. 4

Question Number : 22 Question Id : 92090613591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR Ay & 9 3rf=a & srarid APRT 3y aiftd 1 &l 82

(1)  Sffwdq 342 (2) 3ff%da 350
(3) ST 362 (4) TG 352
Options :

92090653685. 1
92090653686. 2
92090653687. 3
92090653688. 4

Question Number : 23 Question Id : 92090613592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hia & By Ry MU
S| U FiRa T 7 5 3 &1 S AT S B AES IHS! AT FH B

FUA ;i voneh # a¥geii iR Jarsit F1 yaTe AP oy H1 AFES € UE U FufRa
rarafd 7 e yorrel 1 Iaure wfE 2|

IR HYA & 3fdld |, Hid S0 770 [decdl § 9 9at Iaia! 994 Sivie

(1) ST R 1S e
(2) HYF | SR 11 SHI TTAd 8
(3) Y| TEl 8, Alhd HYA 11 TTAd &
(4) Y1 TEd g, dfed B || el 8
Options :
92090653689. 1
92090653690, 2

92090653691. 3
92090653692. 4

Question Number : 23 Question Id : 92090613592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i3 2 By fRg MU §;
S| U FiRd a9 7 6 39 &1 S AT S B AES IHS! AT R B

FYA I e yone F awgsit ofR Jarslt &1 wate APt oMy B AHES § U8 v FufRa
ey 7 snfdfes yorrelt & Iare wfE g

IR HYF & 3fdld |, 1 S0 770 [decdl #§ 9 98t I 994 Sivie

(1) Y1 3R D S B
(2)  HYF | SR 11 HI TTAd @
(3) HYFIHEI 8, Al HYT I TTad &
(4) HYFI7Ad g, dfed B || Hel §
Options :
92090653689. 1
92090653690, 2

92090653691. 3
92090653692. 4



Question Number : 24 Question Id : 92090613593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 7 @ 19 Pedla Ferd # 700 el 19 9ren Uy Bedrd REarg! 3R s=Rigy oo @R
g1

(1)  forHe A (2) TorRRea N Trest
(3) U (4) Y&d daistsuis
Options :

92090653693. 1
92090653694. 2
92090653695. 3
92090653696. 4

Question Number : 24 Question Id : 92090613593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 7 @ 19 Pedla Ferd # 700 el 19 9ren Uy Bedrd REarg! 3R s=Rigy oo @R
g1

(1)  forHe A (2) TorRRea N Trest
(3) U (4) Y&d daistsuis
Options :

92090653693. 1
92090653694. 2
92090653695. 3
92090653696. 4

Question Number : 25 Question Id : 92090613594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hadl g1 e A 4 i A famrd gt 82

A. Bl
B. HaldI

C. TRWES
D. ufgw

E. S
19 fau v faeedi § ¥ 9el IR &1 994 Difort

(1) &dd A B3RD
(2) ®ad A B3RE
(3) Fdd A C3RD
(4) PadA DSIRE

Options :

92090653697. 1
92090653698. 2
92090653699. 3
92090653700. 4

Question Number : 25 Question Id : 92090613594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Aol gr1 A9 | 9 3 4t fawrd gidl 82
A Bl
B. HalAl

C. TRWES
D. ufgw

E. S
19 fau v faeedi § ¥ 9el IR &1 994 Difort

(1) &4dd A B3RD
(2) &dd A, BS3IRE
(3) dd A, C3RD
(4) ®HAAA D ARE
Options :
92090653697. 1
92090653698, 2

92090653699. 3
92090653700. 4

Part B: Material Science and Technology

Section Id : 920906270
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906442
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090613595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

‘Zeeman Effect’ phenomenon involves

(1)  Splitting of spectral lines by an electric field
(2)  Splitting of spectral lines by a magnetic field
(3)  Splhitting of white light into seven colours

(4} Bending of light around the corners of an obstacle

Options :

92090653701. 1
92090653702. 2
92090653703. 3
92090653704. 4

Question Number : 26 Question Id : 92090613595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHA UHIE Uiee & g2

(1)  fagga &= g1 avl wifig warsh &1 faveE
(2) JHEDIY &F gRI a0 g @3 FT faqeH
(3)  4d UHTY &1 U I H faufora

(4) €Y1 P DIl Y UBT BT ST

Options :

92090653701. 1
92090653702. 2
92090653703. 3
92090653704. 4

Question Number : 27 Question Id : 92090613596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following i1s a top-down approach for the synthesis of nanomaterials?
(1) Chemical Vapour Deposition (CVD) (2) Ball-milling
(3) Physical Vapour Deposition (4) Hydrothermal method

Options :
92090653705. 1
92090653706. 2



92090653707. 3
92090653708. 4

Question Number : 27 Question Id : 92090613596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 7 9 &9 91 39 S0 & Yo & R eu-SraA efs i 82

(1)  THAAS ™ §HE 2) daia fafe
(3) i A SHE (4) TIESIYHY fafd
Options :

92090653705. 1
92090653706. 2
92090653707. 3
92090653708. 4

Question Number : 28 Question Id : 92090613597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The condition for diffraction of hight 1s:

Where; A is the wavelength of source used. a=size of the obstacle.

(1) A za (2) A<a
(3) A=a () A>>a
Options :

92090653709. 1
92090653710. 2
92090653711. 3
92090653712. 4

Question Number : 28 Question Id : 92090613597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHT &1 fdad Hfem & I 3d Ul 82

(1) iL=za (2) A<a
(3) A= (4) A=>a



Options :

92090653709. 1
92090653710. 2
92090653711. 3
92090653712. 4

Question Number : 29 Question Id : 92090613598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heduction in the grain size of a material from bulk scale to nanometer scale, results
n

(1)  shaft in the position of absorption edge in UV-wvisible spectrum towards higher
wavelength side.

(2)  no shift in the position of absorption edge in UV-visible spectrum.

(3)  shift in the position of absorption edge in UV-visible spectrum towards lower
wavelength side.

(4) random shifting of absorption edge in UV-visible spectrum.

Options :

92090653713. 1
92090653714. 2
92090653715. 3
92090653716. 4

Question Number : 29 Question Id : 92090613598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g UHM 9 391 Hiel T0F 9@ vy s1aR # ! &1 uiom &

(1) g fafsfae Ween # sz @ 3 #1 fFar e g= o e @t sl
) gt fafofad Weaen & siaximor i Rufa &1 ARt A1 fegsn

3) gt ffofed Qaen ¥ sEmm &t Rufa &1 feR feas g o 3= 1 3R
4) g4t fafsifeae Waen § Fifed] &1 Javdie Ragsn

Options :

92090653713. 1
92090653714. 2
92090653715. 3
92090653716. 4



Question Number : 30 Question Id : 92090613599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A n — type semiconductor is

(1) positively charged
(2) electrically neutral
(3) negatively charged
(4) electrically at 0 K but charged at higher temperatures

Options :

92090653717. 1
92090653718. 2
92090653719. 3
92090653720. 4

Question Number : 30 Question Id : 92090613599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U n — 2134 3= g
(1) YIS a9
(2) faggd IerEH

(3) RUTHS G
(4) 0K faggd IeMeH W= 3= dUHMH R {1afRrd

Options :

92090653717. 1
92090653718. 2
92090653719. 3
92090653720. 4

Question Number : 31 Question Id : 92090613600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Bragg's angle for the first order diffraction from (111) plane in a crystal is 60°.

]—10

Caleulate the interatomic spacing if X — rays of wavelength 1.8 x1( m are used.

(1)  28x10 7 m (2) 3.2x10 % m
(3)  1.8x10710 m (4) 0.6x1071m
Options :

92090653721. 1
92090653722. 2
92090653723. 3
92090653724. 4

Question Number : 31 Question Id : 92090613600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fhed # (111) a0 9 UYH $ifie & [dad- & o 57 107 60° 8 | Al X - ol foraal
AT 1.8 x 1070 m § &1 WA fHa1 SI1a 8 a1 ST YRHTY] S0 &1 UR&ba H3 |

(1) 2.8x10°m (2) 3.2 x10%m
(3) 1.8x10"m (4) 0.6 x10"m
Options :

92090653721. 1
92090653722. 2
92090653723. 3
92090653724. 4

Question Number : 32 Question Id : 92090613601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If ny and n. are number of holes and number of conduction electrons in an extrinsic
semiconductor respectively, then which of the following is true

(1)  ny>ne (2) np=n.
(:i} np = Ne [:'-1} np FNe
Options :

92090653725. 1
92090653726. 2
92090653727. 3



92090653728. 4

Question Number : 32 Question Id : 92090613601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gig n, TUT n. U aIgl HEATAS H HHI: DIe] SR FaacHl @I G & ol FHafaiad § o
1 Hel 87

“} Mp = Ne {2] Np = Ne
(3)  np<ne (4) np#ne
Options :

92090653725. 1
92090653726. 2
92090653727. 3
92090653728. 4

Question Number : 33 Question Id : 92090613602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An Aluminium crystal is bent into a radius of curvature of 6 cm. The value of
minimum dislocation density is ( Hint: Burgers vector = 3 135}

(1) 3.2 x 10102 (2) 4.89 x 1019m2
(3) 5.5 X 1010m2 (4) 6.4 % 10"Y%m2
Options :

92090653729. 1
92090653730. 2
92090653731. 3
92090653732. 4

Question Number : 33 Question Id : 92090613602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U UegHI-TH &1 99 6 I (6 cm) @1 Iehdl a1 d AIST 911 A1 €, o gAdH AR 99d &
A $1 ITUFT B3 (Fdbd : TR W = 3 A)

(1) 3.2x109m?2 (2) 4.89 x 10"°m™
(3) 55x10"%m? 4) 6.4 x 10"°m™?
Options :

92090653729. 1
92090653730. 2
92090653731. 3
92090653732. 4

Question Number : 34 Question Id : 92090613603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a. b and c are translational vectors of primitive unit cell. Which of the following
correctly represents the primitive translation vectors of reciprocal lattice?

_ ixB . Fxa

(1) a*=2r ﬂ,x h¥=2r—— ¥ =2 E_j,m
a.(b %) .(bxé i.(bx¢)

G) ot VRO ooy TXE . g0 GXD
a.(bxc) a.(bxe) da.bxc)

B) o ONE g b BNE g e O ﬁ_
2x a(bxc) 2r da.(bxc) da.(bx¢)

Exd - ixh b d

(1) @ =2r—f hrt—2g 2l gt gl
d.(bxF) dbxF) d.(bxE)

Options :

92090653733. 1
92090653734. 2
92090653735. 3
92090653736. 4

Question Number : 34 Question Id : 92090613603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e a, b AT ¢ UG UHhd HIPHT & WFARY Fiew € : d Fafifed # 3 gerd das &
3HISY RHARYT FfeY ([@dae?) $1 ¥el 9 7 qufd gl

axh

(1) a*=2r—22 pr=2g 2 gr_n, X4
a.(bx¢) a.(bx&) afbxc)
@  avuogBER geoan €XB g GXD
a.(bx¢) a.(bxé) a(bxc)
@ i O e b BN o op, €0
2t d(bxE) 2w d(bx&) i.(b x&)
Uy Pt TX0 B, BN g Gy, 00
d.(bxc) a.(bxc) a(bxc)
Options :

92090653733. 1
92090653734. 2
92090653735. 3
92090653736. 4

Question Number : 35 Question Id : 92090613604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electron in the conduction band:

(1) is bound to its parent atom
(2) has no charge
i(3) is located near the top of the crystal

i4) has a higher energy than an electron in valence band.

Options :

92090653737. 1
92090653738. 2
92090653739. 3
92090653740. 4

Question Number : 35 Question Id : 92090613604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



yaigdd 9 H U faqgaer Gelagm) |

(1) 31O Hd URHTY] § &1 g3 gl 8|

(2) IS A el Tl

3) fobed & Uiy & gy fRya gar g1

(4)  wl dy 7 fagggs] B gann # sifte Sei v@ar |

Options :

92090653737. 1
92090653738. 2
92090653739. 3
92090653740. 4

Question Number : 36 Question Id : 92090613605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For characteristic X — rays. Moseley's law is expressed as WV S (% - b). Which of
the following statement is true in this regard?

(1) Both ‘a’ and ‘b’ depend on the material.

(2) b’ 15 independent, but ‘a’ depends on the material.
(3)  ‘a’is independent but ‘b’ depends on the material.
(4) Both ‘a’ and ‘b’ are independent of the material.

Options :

92090653741. 1
92090653742. 2
92090653743. 3
92090653744. 4

Question Number : 36 Question Id : 92090613605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& X — ol & o, ve &1 Fga s@iar 8 Vv = o (Z - b). FafefEa # oA @
FY 39 ey 7 9 B

(1) wdub e edRARaEsaE
(2) b g, dib ‘@’ Uer WR Fvar g
(3) ‘aWadg dfed b Qg RAMR A
(4) ‘o’ TUIb S S § Wad §

Options :

92090653741. 1

92090653742. 2

92090653743. 3
92090653744. 4

Question Number : 37 Question Id : 92090613606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 Bohr Magneton is given by

o 2 @ 2
2m e
w2 @ =
i 2me
Options :

92090653745. 1
92090653746. 2
92090653747. 3
92090653748. 4

Question Number : 37 Question Id : 92090613606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & ¥ &9 91 fdF ey IR AeH &1 98l S 87

m 2 @ =
Lm mec
m mc

Options :



92090653745. 1
92090653746. 2
92090653747. 3
92090653748. 4

Question Number : 38 Question Id : 92090613607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The paramagnetic susceptibility of the Fermi gas of conduction electrons is:

(1)  y=3Ng2/2 Ep (2) y=2Nu2I2 Ep
(3) y=2Nu’I3 Ep (4) y=3Nul/Ep
Options :

92090653749. 1
92090653750. 2
92090653751. 3
92090653752. 4

Question Number : 38 Question Id : 92090613607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YaTe® SadeH] &1 WBH 719 1 I gra g Jaiedl o1 82

(1) y=3N.2I2 Ep (2) #=2Ng2I2 Ep
F rd £ F
(3) x=2N13 Ep (4) y=3NulEp
Options :

92090653749. 1
92090653750. 2
92090653751. 3
92090653752. 4

Question Number : 39 Question Id : 92090613608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sieverts (5v) 1s used to measure

(1) loudness of sound {2) radiation dosage

(3) light intensity {4) recombination rate of charge carrers



Options :

92090653753. 1
92090653754. 2
92090653755. 3
92090653756. 4

Question Number : 39 Question Id : 92090613608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A& (Sieverts) P W A9 & forQ faar <iran 21
(1) & & ydgedhd

2 fafeo g

(3)  UHIY diddl

(4) AV dIgd] B G dieH X
Options :

92090653753. 1
92090653754. 2
92090653755. 3
92090653756. 4

Question Number : 40 Question Id : 92090613609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of nearest neighbour distance in simple cubic, body centered cubic and face
centered cubic crystal structures of equal sides is respectively:

31 ; W31
W L @ =55
] 8
o l: :Eu"?, 4 | & =2
) 3.3 @ 3.3
Options :

92090653757. 1
92090653758. 2
92090653759. 3
92090653760. 4

Question Number : 40 Question Id : 92090613609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HHF YOl13fl 91d "IURY U4, {08 &g 99 aul Bad <0 94 fobded WA & fon
Fdedd Sl 3t gl &1 3 &

_J__ . SR
) ?T AR
(3) 1;—?-“;2@ (4) 115002

33 33
Options :

92090653757. 1
92090653758. 2
92090653759. 3
92090653760. 4

Question Number : 41 Question Id : 92090613610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For an anisotropic dielectric media, the relative permittivity is:

(1) a scalar quantity (2) a vector quantity
(3) a tensor quantity (4) an imaginary number
Options :

92090653761. 1
92090653762. 2
92090653763. 3
92090653764. 4

Question Number : 41 Question Id : 92090613610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYHEAIE URIdegd HIeOH & fo1y, |Iie) IR g

(1) e i (2) wfem iy

(3) ufcmr i (4) UdH Hlcd-h A=l
Options :

92090653761. 1
92090653762. 2



92090653763. 3
92090653764. 4

Question Number : 42 Question Id : 92090613611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following which iz not a chemical method of the synthesis of
nanomaterials?

(1) Hydrothermal method (2) Sol-gel method
(3) Co-precipitation method (4) Laser-ablation method.
Options :

92090653765. 1
92090653766. 2
92090653767. 3
92090653768. 4

Question Number : 42 Question Id : 92090613611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafEa A 9 19 8 A1 Sl & Hgen $1 I &y == 82

(1) erggluva fafy
2) faea-—<od @ra o) fafd
(3) g 3fdaqur fafd
(4) OoR UsaH fafy

Options :

92090653765. 1
92090653766. 2
92090653767. 3
92090653768. 4

Question Number : 43 Question Id : 92090613612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The slopes of isothermal and adiabatic curves are related as:

(1) [zothermal curve slope = Adiabatic curve slope

(2) Izothermal curve slope = y (Adiabatic curve slope)
(3) Adiabatic curve slope = ¥ (Isothermal curve slope)

i4) Adiabatic curve slope = Ey (Isothermal curve slope)
Options :
92090653769. 1
92090653770. 2
92090653771. 3
92090653772. 4

Question Number : 43 Question Id : 92090613612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H Aty 3R IS UshHi & Sal &1 dehl & gall fbd TbR GHERId ¢

(1)  9HdYY 9 gdH = TS 9 aaH
(2) GHAY 3% gdH = » (SGI™ db eaH)
(3) &I P A = y (GHAUY T5h gdH)

4) TG 9% gdM = -';l (gHAU 9% gdH)

Options :

92090653769. 1
92090653770. 2
92090653771. 3
92090653772. 4

Question Number : 44 Question Id : 92090613613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Critical Temperature is defined as:

(1) minimum temperature at which a gas can be liquefied by applying pressure.
(2) lowest temperature at which a gas can be liquefied at constant pressure.

(3) minimum temperature at which a gas cannot be liquefied by applving
pressure.

(4) highest temperature at which a gas cannot be liquefied by decreasing pressure.



Options :

92090653773. 1
92090653774. 2
92090653775. 3
92090653776. 4

Question Number : 44 Question Id : 92090613613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
st dTaHT 7 7 ¥ fu e gfvHivd fasar wiman 82

(1) 98 AT audH for R g9 @I 719 &1 gfad fasar o asban ¢

(2) @l FHuad aoHE o/ R RR gE gR1 T & gidd g o wdar g
(3) gAAH dT9HM R R a1d e 19 &1 Gidd ! &1 o Jahdl &
(4) I=HAH AYHM ORI IR ga1d $H X 719 DI sidd el fadl o Tl ¢

Options :

92090653773. 1
92090653774. 2
92090653775. 3
92090653776. 4

Question Number : 45 Question Id : 92090613614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The enthalpy of unit mass of any system is

(1) H=U+PV+S (2) H=U+PV-S
(3) H=U+PV (4) H=E+TS
Options :

92090653777. 1
92090653778. 2
92090653779. 3
92090653780. 4

Question Number : 45 Question Id : 92090613614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fareit +ft et @1 31S guHE F1 andiy enfear @R g

(1) H=U+PV+8 (2) H=U+PV-S
(3) H=U+FPV (4) H=E+TS
Options :

92090653777. 1
92090653778. 2
92090653779. 3
92090653780. 4

Question Number : 46 Question Id : 92090613615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of Fermi energy of an electron in Fermi level 157

. _RK(3NY i [ 3N )
1 F,A = =— 9 E; =
S zm(m-'] 2o i e J
. R[N (2N |3
(3) E, :-“[ 2 ] (4) Ef=- [ 2
 2m\ 8} 2m| 8x°V |
Options :

92090653781. 1
92090653782. 2
92090653783. 3
92090653784. 4

Question Number : 46 Question Id : 92090613615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wl wag # Ud fdegesn] gdde) 1 wHf Fui &1 °0H giar &2

) 1
h (3N} h (3N |3
i el B By 1
() . Em(EJﬂ'] & I~ 2m BrV )
h (3N )2 w2 ( 2N )
3 gty 8 mpea] 2]
o2y zm[ax-':-’J @ = omlaEy)

Options :



92090653781. 1
92090653782. 2
92090653783. 3
92090653784. 4

Question Number : 47 Question Id : 92090613616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of vibrational degrees of freedom in water molecule:

(1) Two (2) Three
(3) Four (4) One
Options :

92090653785. 1
92090653786. 2
92090653787. 3
92090653788. 4

Question Number : 47 Question Id : 92090613616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o & o] H WG WAl & difcdl &1 §E&Hl §:

m @ (2) dH
(3) =R 4 TP
Options :

92090653785. 1
92090653786. 2
92090653787. 3
92090653788. 4

Question Number : 48 Question Id : 92090613617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The device which converts heat energy into Mechanical work is:

(1) Motor (2) (Generator
(3) Heat Engine (4) Energy converter
Options :

92090653789. 1
92090653790. 2
92090653791. 3
92090653792. 4

Question Number : 48 Question Id : 92090613617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

98 IUS Gl SHHIT Sl &1 i Jeil # ulafid Fd1 8l

(1) HR (2) SR
(3) M (&) o @) Holl uNdd®
Options :

92090653789. 1
92090653790. 2
92090653791. 3
92090653792. 4

Question Number : 49 Question Id : 92090613618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of two specific heats !/ﬁw of a diatomic gas is:

.Cv )
(1) 1.66 (2) 1.33
(3) 1.40 (4) 1.52
Options :

92090653793. 1
92090653794. 2
92090653795. 3
92090653796. 4

Question Number : 49 Question Id : 92090613618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

feuRwme 19 &1 AP SHea1seh (C/C.) &1 U 8l

(1) 1.66 (2) 1.33
(3) 1.40 (4) 1.52
Options :

92090653793. 1
92090653794. 2
92090653795. 3
92090653796. 4

Question Number : 50 Question Id : 92090613619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an experimental method in X — ray diffration study?

(1) Rotating erystal method (2} Powder method
(3) Laue's method (4) Miller method
Options :

92090653797. 1
92090653798. 2
92090653799. 3
92090653800. 4

Question Number : 50 Question Id : 92090613619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafEa & ¥ &9 X - & fagda srega & e f&fd =gt 82

(1) Yo e fafd 2 i [@ssy) fafy
(3) M (Laue's) Bl fafdl @) TR fafe
Options :

92090653797. 1
92090653798. 2
92090653799. 3
92090653800. 4



Question Number : 51 Question Id : 92090613620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The First Law of thermodynamics is based on the principle of:

(1) Conservation of mass (2) Conservation of momentum
(3 Conservation of energy (4) Conservation of entropy
Options :

92090653801. 1
92090653802. 2
92090653803. 3
92090653804. 4

Question Number : 51 Question Id : 92090613620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHYAMET &1 yuA Faq &g fagia w sreRda g

(1)  FoOHT &1 T&U (2) AT T &
(3) ol BT W& (4) ST &1 HR&u
Options :

92090653801. 1
92090653802. 2
92090653803. 3
92090653804. 4

Question Number : 52 Question Id : 92090613621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a transverse mechanical wave moves along X — axis, the particles of the
medium vibrate:

(1) along X — Y plane (2) along X - axis
(3 along Y — Z plane (4) along X — Z plane
Options :

92090653805. 1



92090653806. 2
92090653807. 3
92090653808. 4

Question Number : 52 Question Id : 92090613621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U gifAd U a3 X —31& & 1Y Feidll ¢ HIGH & U] I Hd g

(1) X -Y ¥de & JuAEIMR (2) X - Hde & gHHIR
(3) Y-ZYdg & FHMINR (4) X-ZHdg & HHEIR
Options :

92090653805. 1
92090653806. 2
92090653807. 3
92090653808. 4

Question Number : 53 Question Id : 92090613622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Drude’s model, deals with the theory of conduction in

(1) semiconductors (2) 1insulators
(3) metals (4) dielectrics
Options :

92090653809. 1
92090653810. 2
92090653811. 3
92090653812. 4

Question Number : 53 Question Id : 92090613622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g@ﬁrm‘ﬁ Udledhd & Rigid 9 G&itd g1
(1) 3¢ gas™ (2) SEEHHY
(3) U™ @) Udegd

Options :



92090653809. 1
92090653810. 2
92090653811. 3
92090653812. 4

Question Number : 54 Question Id : 92090613623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represents the Bloch’s function in one dimension?
(1)  wix)= exp (ikx)uy (x) where ug (x +a)=uy (x)

f—} iy f—} f=% =p i{—?
(2) !;ri rl=exp|tik-r ”k;,r where uy| r-a u::kir

& L8 ! & bS &

(3) wix)= sin(ikx)uy (x) where uy (x +a)=uy (x)+uy (a)

(4) wlx)= coslikx)u, (x) where uy (x +a)=uy (x)+uy, (a)

Options :

92090653813. 1
92090653814. 2
92090653815. 3
92090653816. 4

Question Number : 54 Question Id : 92090613623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 7 9 &9 91 us & saiw (Bloch) e &1 UfdfAfee &1 g

(1) wlx)= exp (tikx)uy(x) where wuy (x +a)=uy (x)

(2) I;.!-’{:T}z exp [i." }: T]M#[T} where u#[; :] = uk[?]

LY
(3)  wlx)= sin(ikx)uy (x) where uy (x +a) =1y (x)+uy (a)

(4)  wix)= coslikx)uy(x) where wuy, (x+a)=u (x)+uy (a)

Options :

92090653813. 1
92090653814. 2
92090653815. 3
92090653816. 4



Question Number : 55 Question Id : 92090613624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which law states, “It is not possible to have a process in which the entropy of an
isolated system is decreased”?

(1) First law of thermodynamics {2) Second law of thermodynamics
(3) Kelvin — Planck statement (4) Gibb's Helmhottz law
Options :

92090653817. 1
92090653818. 2
92090653819. 3
92090653820. 4

Question Number : 55 Question Id : 92090613624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafefed & 4 & a1 From aqrdr 8 e e W uftsar dva 78 ¢ o ue gyes yomelt &1
et gecht 81

(1) 17! &1 waw Han

(2) S Ifde! @ fedi Fam

(3)  iead - Wid HYUA

4) Tieu - gwEees oA

Options :

92090653817. 1
92090653818. 2
92090653819. 3
92090653820. 4

Question Number : 56 Question Id : 92090613625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First Brillouin zone of the face-centered cubic latter is

(1) a cube (2) arhombic dodecahedron

(3) a truncated octahedron (4) arhombus



Options :

92090653821. 1
92090653822. 2
92090653823. 3
92090653824. 4

Question Number : 56 Question Id : 92090613625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bl $i-ad T410 STad &1 gy eI g ——

(1) TP (@9

(2) U fAuneEny geuwad Qs SeaReH)
(3) UD @Usd APHAP (Cidbes AlaesH)

(4) TS GHEgHS

Options :

92090653821. 1
92090653822. 2
92090653823. 3
92090653824. 4

Question Number : 57 Question Id : 92090613626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One i1s labelled as Assertion (A) and the other is

labelled as Reaszon (R).

Assertion (A) : Solar cells converts light energy into electrical energy.

Reasons (R):  Solar cells always work in reverse hiased condition.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s incorrect

i(4) (&) 18 incorrect but (R) 1s correct

Options :

92090653825. 1
92090653826. 2
92090653827. 3
92090653828. 4

Question Number : 57 Question Id : 92090613626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R IsyRumE:

HYF | : R I UHTA Sl Bl [dggd SHoll | uiafid dd & |

®YA || : GreR T gA fAudid IehH fid (e 9raws) s/aw # &rd vl B
IR HYA & 3Tdled #, A 3T MU fab el # ¥ "l Il 9u- Hiferg

(1) FYFISRISH T8

2) DY RN T E

(3) HYTI T, AP HYTI 3 TAE
(4) HYT| TG g, dfbI HYF 11 T §
Options :

92090653825. 1
92090653826. 2



92090653827. 3
92090653828. 4

Question Number : 58 Question Id : 92090613627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Newton's law of cooling is a special case of:

(1) Stefan's law (2) Planck’s law
(3) Wein's displacement law (4) Kirchoffs law
Options :

92090653829. 1
92090653830. 2
92090653831. 3
92090653832. 4

Question Number : 58 Question Id : 92090613627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e $1 e &1 fFan B ¥ 9 g Fgn o1 fody fufa g2

(1) e & g (2) ie &1 A
(3) i &1 fawyrgE Ao 4) T &1 faan
Options :

92090653829. 1
92090653830. 2
92090653831. 3
92090653832. 4

Question Number : 59 Question Id : 92090613628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit cell dimension of bec iron is 2.81 A. The radius of iron atom is

(1) 1224 (2) 1.44 A
(3) 5224 (4) 6.44 A
Options :

92090653833. 1



92090653834. 2
92090653835. 3
92090653836. 4

Question Number : 59 Question Id : 92090613628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BCC Wi (3M133) BT 3bTs a1 2.81 A g1 die & YTHIY] (UeH) &1 Ui a1 Jid difom:

(1) 122A (2) 1.44 A
(3) 5.22A (4) 6.44 A
Options :

92090653833. 1
92090653834. 2
92090653835. 3
92090653836. 4

Question Number : 60 Question Id : 92090613629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following solid is held together by Van der Waal forces?

(1) Ionic erystals (2) Covalent solids
(3) Metallic solids (4) Moleculer solids
Options :

92090653837. 1
92090653838. 2
92090653839. 3
92090653840. 4

Question Number : 60 Question Id : 92090613629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafeRad # ¥ S 91 31 ars 91d J1dl gRT U 91y §¢7 §1d1 g7

(1) S feed (2) YeHONd 3
(3) ufcd® s™ (4) SMUIfd® B



Options :

92090653837. 1
92090653838. 2
92090653839. 3
92090653840. 4

Question Number : 61 Question Id : 92090613630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the intensity of Magnetization of a steel bar magnet having a magnetic moment
of 2.5 Am? and mass of 6.6x10™ kg. The density of steel is 7.9 %10 kgm-3.

"

(1) 3.0 x 10" Am?! (2) 8.3x 1077 m?

(3)

!

3.0x10°% Am-! (4) 8.3x10 m3

Options :

92090653841. 1
92090653842. 2
92090653843. 3
92090653844. 4

Question Number : 61 Question Id : 92090613630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W R D & D IH0N DI el Ut DL Forie] TSI SATY0] 2.5Am2,
G 6.6 X 102 kg AU €Id &1 99 7.9 x 10°%kg m3 8|

(1) =3.0x10° Am+ (2) 83x107 m?
(3) =30x10° Am- (4) 8.3x10"m?
Options :

92090653841. 1
92090653842. 2
92090653843. 3
92090653844. 4

Question Number : 62 Question Id : 92090613631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following noble gas atoms has the lowest ionization energy?

(1) Helium (He) {2) Argon (Ar)
5)] Xenon (Xe) (4) Neon (Ne)
Options :

92090653845. 1
92090653846. 2
92090653847. 3
92090653848. 4

Question Number : 62 Question Id : 92090613631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 30 T e T oRaETsii 7 9 fhyue! e Rt Hul 94 A $H gidl 82

(1) Tl (He)

2)  3mHE (An

(3)  SFH (Xe)

4)  OH (Ne)
Options :

92090653845. 1
92090653846. 2
92090653847. 3
92090653848. 4

Question Number : 63 Question Id : 92090613632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which law / theory states that the ratio between thermal and electrical conductivity
is constant for all metals?

(1) Free - electron Model (2) Weidermann — Franz law
(3) Ohm's law (4) Band theory of solids
Options :

92090653849. 1
92090653850. 2
92090653851. 3
92090653852. 4



Question Number : 63 Question Id : 92090613632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I 91 fan,/Rigid a1 € i ardia ud faggd adeal & & &1 siurd 3 rgsh & fog
fraa grar g2

(1) ¥ e Alsd

(2) dESY A - i Fam

(3) &g

(@) B9 uredl @1 avs figid @ R sife diftrs)

Options :

92090653849. 1
92090653850. 2
92090653851. 3
92090653852. 4

Question Number : 64 Question Id : 92090613633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following elements posseses Diamond erystal structure?

(1) Silicon (S1) (2) Magnesium (Mg)
(3) Gold (Au) (1) Silver (Ag)
Options :

92090653853. 1
92090653854. 2
92090653855. 3
92090653856. 4

Question Number : 64 Question Id : 92090613633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafiad #§ &F 91 dd R &1 fihed 9381 YR & 87

(1) fafee (Si) 2) HFIREH (Mg)
(3) I (W) (Au) (4) =rd () (Ag)
Options :

92090653853. 1
92090653854. 2
92090653855. 3
92090653856. 4

Question Number : 65 Question Id : 92090613634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Laser stands for -

(1) Light Amplification by Stimulated Emission of Radiation
(2) Light Amplitude by Stimulated Emission of Radiation
(3) Light Amplification by Stimulated Emission of Ravs

(4) Light Amplification by Strong Emission of Radiations

Options :

92090653857. 1
92090653858. 2
92090653859. 3
92090653860. 4

Question Number : 65 Question Id : 92090613634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AeR BT Y

(1) fafevo & SEiNT IS g1 Ut &1 vadE

2 fafesor & SEING IS gR1 UHT &1 3

3) [l & IEUT IelH GRI USHT &1 Uat

4) [ & Ugd IEsH gRI UST &1 UgtH
Options :

92090653857. 1
92090653858. 2



92090653859. 3
92090653860. 4

Question Number : 66 Question Id : 92090613635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A second order phase transistion is one in which

(A)  The plot of entropy as a function of temperature shows a discontinunity.
(B)  The plot of specific heat as a function of temperature shows a discontinunity.
(C) The plot of volume as a function of pressure shows a discontinunity.

(D)  The plot of compressibility as a function of temperature 15 continuous.

Choose the correct answer from the options given below :

(1) (A &(B)
(2) (B)& (D)

(3) Only B
(4) Only D
Options :

92090653861. 1
92090653862. 2
92090653863. 3
92090653864. 4

Question Number : 66 Question Id : 92090613635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U fcdig S fawl SfawicR 48 ¢ foram

A, dIUAM $ Bad & ©U H T B wie i S el |

B. dIUHM & %o & ¥4 | fafliy w1 &1 @ie sr¥icdl &1 a2ial g
C. TE® %o ® ¥ H U0 & Wie Saidd &1 s gl

D. dO9HM & B & ©U § GFgddl &1 wWie FYa gidl g
i< feu 7t fasheul # @ WEl IR &1 997 i

(1) A3RB
2 BS3RD
(3) &dd B
(4) &dd D
Options :

92090653861. 1
92090653862. 2
92090653863. 3
92090653864. 4

Question Number : 67 Question Id : 92090613636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One i1s labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  Gold Nano-particles of size 2 nm, 10 nm and 15 nm possess different
colours.
Reasons B : Surface plasmons formed on the surface of the metal nanoparticles of

different sizes absorb different wavelengths when exposed to light.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1)
(2)
(3)
(4)

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is NOT the correct explanation of A
A is correct but R is not correct

A 15 not correct but R is correct

Options :

92090653865. 1
92090653866. 2
92090653867. 3
92090653868. 4

Question Number : 67 Question Id : 92090613636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



12 €1 Hu fau MU § U SHfHFHUA (Assertion A) F T H fafad & O g1 IS HRUI
(Reason R}%W u:

HHFYTA : THA @NES) 79 B F HFHR 2 nm, 10 nm TG 15 nm 3T T 4RO FRAT1 |

PHRUIR : i 3MHRY & HRU A4T ST &I Ade!l W g4 didl da! @IoHH il aan
TEf 1 3NN &H3d € o1d 39 AU Bl USRI 5 ar g1

S HYF & 3freirer H, A fu T fadedi 7 9 998 Iugad IR &1 994 B

(1) ASIRREH T8l € AR R, A Bl &l TS &

(2) A SIRRGH 98l €, Wi R, A DI Hel AT ol &
3) ATHE AT RIS TR

(4) AWTIE APTRAGR

Options :

92090653865. 1
92090653866. 2
92090653867. 3
92090653868. 4

Question Number : 68 Question Id : 92090613637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Orthorhombic erystal posseses the point groups:

(1) CaV, Sg, Da, Dad (2) C4 CuV, Cih, S4 Dy, Dsh, Dad
(3) C:V, Ds, Dsh, Dad (4) Cs, Csh, Cih
Options :

92090653869. 1
92090653870. 2
92090653871. 3
92090653872. 4

Question Number : 68 Question Id : 92090613637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3T fpwea 7 fag Tg €A €1

(1 C.V: 5, 0,0 2 C,.CV,Gvh:S5,,D,;D:hDd
(3) C,V.D,,D,h (4) C,Ch,Ch
Options :

92090653869. 1
92090653870. 2
92090653871. 3
92090653872. 4

Question Number : 69 Question Id : 92090613638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  Brillouin Zone is a Wigner Seitz cell in reciprocal space.

Reasons R : A reciprocal lattice can not be devided into zones in the same way as
a bravais lattice is divided into Wigner Seitz cells.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 1s not correct but R 1s correct

Options :

92090653873. 1
92090653874. 2
92090653875. 3
92090653876. 4

Question Number : 69 Question Id : 92090613638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty UM &:
&Y | ;. fofer S Wi €9 ¥ v faiR died 9 g

FYF Il . UFH WHUIHd Aad efera= FA1 § 781 diel & Sadl ol & U6 919 e [ R
Hiew Tl # diel of gl gl

JUITd YA & 3fald H, Al 80 710 fawedi # | "l 3! 994 Difvig

(1) FYIMR ST TGS

(2) YA SR 1 AT A &

(3) U FA g, b Y |l A &
(4)  DUA MUY g, Afb YA 1| I &

Options :

92090653873. 1
92090653874. 2
92090653875. 3
92090653876. 4

Question Number : 70 Question Id : 92090613639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the crystal which does not show Zinc blende structure?

(1) Cu(l (2) Agl
(3) BeTe (1) BaTe
Options :

92090653877. 1
92090653878. 2
92090653879. 3
92090653880. 4

Question Number : 70 Question Id : 92090613639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 foheed &1 Ugard & ol fold 513 (zinc blende) TXEAT fle@mI B

(1) Cud (2) Agl
(3) BeTe (4) BaTe
Options :

92090653877. 1
92090653878. 2
92090653879. 3
92090653880. 4

Question Number : 71 Question Id : 92090613640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  An increase in the entropy of a system can be described as an

increase in the disorder of the system.

Reasonz R Entropy is a measure of unavailable energy.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R 1s NOT the correct explanation of A
(3 A 1s true but R 1s false

i(4) A is false but R is true

Options :

92090653881. 1
92090653882. 2
92090653883. 3
92090653884. 4

Question Number : 71 Question Id : 92090613640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FyRRu U E:

HUYF | : TP YUl &1 T2t 7 gig &1 yoiell & fasR § gfg & w9 ¥ aftfa
faar 51 g g

HYA Il : T SUTss Sroll i U HIU g
IS HYA & 3Mdld H, [ S0 710 fdsedi 7 | gl Iava! 994 Sifvig

(1) &Y 3R ISH T &

(2) YT SR I EH A &

(3) YT TA g, Afb HYF Il ST B
(4) DU MUY B, Al HY 11 T B

Options :

92090653881. 1
92090653882. 2
92090653883. 3
92090653884. 4

Question Number : 72 Question Id : 92090613641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  The effective mass of an electron moving in a crystal depends on the

shape of the E — k curve and given by :

Reasons R :  An electron in a crystal interacts with the potential of the crystal and
its response towards the external force is different from that of a free

electron.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2} Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true

Options :

92090653885. 1
92090653886. 2
92090653887. 3
92090653888. 4

Question Number : 72 Question Id : 92090613641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fH g FyA Rumu

HYq| :

HY- |l :

U foped H TIAHMA SaaeH &1 YHTH GO0 E — k 9% $ ATBR R AR Ha
g, 3R 39 gRI e mar 81

hz
aE
dk?
0% fFeed ¥ us gaaeH fivtea & faua & a1y 3 fban &1 € ol U&
d18d 90 D1 TR IUSD! Ifeba1 U Hod FAiagi= $i garn # o= gicit 21

I HYA & 3fdld |, 1 S0 710 [deedl d§ | el Iava! 94 Sifviw

(1)
(2)
(3)
(4)

DU AR N EHT T E

HYF | 3R 11 ST 3T &

HYF | A 8, Al DY 1l 3T §
HY | 3 §, A HUF 11 TA B

Options :

92090653885. 1
92090653886. 2
92090653887. 3
92090653888. 4

Question Number : 73 Question Id : 92090613642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct differction condition in terms of Reciprocal lattice vector

(1) 2K-K+G*=0 (2) 2K-G+G*=0
(3) 2K-G+K%=0 (4) 2K-G-G*=0
Options :

92090653889. 1
92090653890. 2
92090653891. 3
92090653892. 4

Question Number : 73 Question Id : 92090613642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Wi d e Aiew & e A fagd= &t 9l wd g4

e

b

[ o]
=L
+
L

I

=

(1) @ 2K-G+G2=0
= y T ;
3) 2K-G+K?%=0 @ 2K-G-G%=0
Options :

92090653889. 1
92090653890. 2
92090653891. 3
92090653892. 4

Question Number : 74 Question Id : 92090613643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following represents monoclinic erystal system:
(1) ga=h=c,0c= A=y=90
(2)  azb=c,o=f=90",y=120
(3) azb#c,e=f=90.2y
(1) a=bzeca=5=120%y

Options :

92090653893. 1

92090653894. 2

92090653895. 3

92090653896. 4

Question Number : 74 Question Id : 92090613643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aifdae fiwed e & fau

(1) a=h=c,k=H0=y="MH)

(2) azb=c,oc=F=90,,y=120r
(3) atbtcou=F=N 2¥

(4) g=bze.a==120"+¥

Options :



92090653893. 1
92090653894. 2
92090653895. 3
92090653896. 4

Question Number : 75 Question Id : 92090613644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which option correctly represents the relation between three elastic moduli, ie.,
Young's Modulus (Y), Bulk modulus (B) and shear modulus (7) and Poisson's

ratio (o).

(1) Y=n(l+20),Y=8(3-20) (2) Y=2n(1+0).Y=3B(3-20)
(8) Y=2n(l-0).Y=3B(1+20) 4 Y=n(2+0)Y=B(3-20)
Options :

92090653897. 1
92090653898. 2
92090653899. 3
92090653900. 4

Question Number : 75 Question Id : 92090613644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®HF ¥ [dPe 3P UPR A YA Uid] ol b 37 & ATl ol (Y), -
TR Ui (B), U UARAT TUId () 3R IS & U (o) & o day &1
faffea &var g

(1)  Y=n(1+20),Y =B(3-20) 2) Y=2(1+0),Y =3B(3-20)
(3) Y=2n(1-o),Y=3B(1+20) @) Y=n(2+0)Y=B(3-20)
Options :

92090653897. 1
92090653898. 2
92090653899. 3
92090653900. 4

Question Number : 76 Question Id : 92090613645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a light is incident normally on the interface separating two media (having different
refractive indices); What will be the change in the path of light?

(1} It will bend towards the normal.

(2) It will bend away from the normal.

(3) It 15 will go undeviated.

(4) It will hounce back and retrace its path.

Options :

92090653901. 1
92090653902. 2
92090653903. 3
92090653904. 4

Question Number : 76 Question Id : 92090613645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gie U USRI FHIRIC: &1 HIEH] &1 JYSH H3 ald ARIGad (Sebd) W Sufad gial 8
(fafir sraadie gid §); 9T & 9y H &1 uRdd- gim?

(1) I8 & B SR g

(2) U8 O U GR FhW
(3)  "g sifadferd gt Mt g1 s

(4)  Og Ul BT 3R S 3R 941 I a9 o

Options :

92090653901. 1
92090653902. 2
92090653903. 3
92090653904. 4

Question Number : 77 Question Id : 92090613646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which iz correct for all ideal gases

(1) Cy iz a function of T only
(2) Cp is a function of T only, and is greater than Cy
(3) Cp — Cy 18 not a function of T, but equal to R.

{4)  The ratio % = ¥ 1s a function of T only, and is greater than 1.
.

Choose the correct answer from the options given below :

(1)  (A) and (B)
(2)  (A)and (C)
(3)  (C)and (D)
(4) (A, (B), (C) and (D)

Options :

92090653905. 1
92090653906. 2
92090653907. 3
92090653908. 4

Question Number : 77 Question Id : 92090613646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot gt sireel i & ferw udt 81
A, C, ®dd T Had gl

B. C, $dd T ®IUH Had g, AR C, 931 ¢l

C. Cp—Cy, TP Ha ol g, died R P TRER gl

D. E—::yﬂﬂﬁﬂqﬁaﬂﬂTﬁWW%ﬁhlﬁ@%I
Hra fdu v fasheui ¥ ¥ 9l IR &1 994 Sifor ;

(1) AS3RB

(2) A3RC

(3) C3RD

4 ABCSIRD

Options :

92090653905. 1



92090653906. 2
92090653907. 3
92090653908. 4

Question Number : 78 Question Id : 92090613647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For ideal liquids, the modulus of rigidity is

(1) infinity (2) finite non zero
(3) unity (4) zero
Options :

92090653909. 1
92090653910. 2
92090653911. 3
92090653912. 4

Question Number : 78 Question Id : 92090613647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aimee] S & o, e Ui &:

(1) /i (2) uRffa IR
3) TR @ =
Options :

92090653909. 1
92090653910. 2
92090653911. 3
92090653912. 4

Question Number : 79 Question Id : 92090613648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Wiedemann - Franz — Lorentz law, which of the following represents the
correct relationship between thermal conductivity (Ke) and electrical condirectivity
(o) in a solid (where : k is Boltzmann constant, ¢ is electronic charge, T is

Temperature)
. 2:2
@) £=[” * ng
o ae”
K, [
® —=={ZZ |r
o de”
K, |[=
(C) *""f;'=[ 5 ]ﬂ'
2 102

T
Ko m’k
2 JT =[He2]

2,8
® =('¢i ]5

Choose the correct answer from the options given below :

(1)  (B)and (E)
(2)  (A)and (B)
(3) (C)and (D)
(4) (D) and (A)

Options :

92090653913. 1
92090653914. 2
92090653915. 3
92090653916. 4

Question Number : 79 Question Id : 92090613648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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® &[22,

I fow v faedl W 9 el IR &1 T HIf -

(1) &ad B3IRE

(2) ad A 3R B

(3) @dd C3RD

(4) Fdd D3IRA
Options :

92090653913. 1
92090653914. 2
92090653915. 3
92090653916. 4

Question Number : 80 Question Id : 92090613649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Figure shows variation of intensity of magnetisations (I) versus the applied magnetic
field (H) of two materials A and B. Identify materials A and B respectively.

IR It

A

H — T —

(1) Diamagnetic and Ferromagnetic (2) Paramagnetic and Diamagnetic

(3) Paramagnetic and Ferromagnetic (4) Diamagnetic and Paramagnetic

Options :

92090653917. 1
92090653918. 2
92090653919. 3
92090653920. 4

Question Number : 80 Question Id : 92090613649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl for 41 uerdf A aur B W AR gaatd & digdl (H) S a1 | s (1) B digdl A
gead & feEar g
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gzt A 3iR B &1 UgAT B

(1)  ufd 9@ a9 - deel (2) WY gFH Y gyl ufd e
(3) WY IIH aYl Wi - gabig 4) ufd Jeer gy I daag
Options :
92090653917. 1
92090653918. 2

k4



92090653919. 3
92090653920. 4

Question Number : 81 Question Id : 92090613650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement I . Internal energy of a Fermi gas at a given temperature decreases
as the volume increases.

Statement I1 :  Internal energy of any system remains unchanged during free
eXpansion.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement 11 are correct
(2) Both Statement | and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect

() Statement I is incorrect but Statement 11 is correct

Options :

92090653921. 1
92090653922. 2
92090653923. 3
92090653924. 4

Question Number : 81 Question Id : 92090613650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 By UM E:

FY | : 3T U AIHE W) BH T $T1 MaRE duHH aad deF W gedl gl
HY 1 o [AWR & SR &t ot saaer/vonet & sfiaie Sl safkafdd edi 81
SWRIT HYF $ 3faid 1, 419 fou 7y fdwedi & 4 ugt 3wl 9a4 Diforg

(1) FYFEISRIGTHTIE

)  PYTI AR ISH A E

(3) Y| TA g, Alpd HU |l 3T g
(4) DY | AFd §, Afh DU 1| A B

Options :

92090653921. 1
92090653922. 2
92090653923. 3
92090653924. 4

Question Number : 82 Question Id : 92090613651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement [ : A particle whose energy is less than the potential barrier may still
tunnel through it.

Statement II : Wider the potential barrier more the chance that a quantum
particle can get through it.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement I1 are false
5] Statement [ 18 true but Statement 11 1s false

{4} Statement I is false but Statement 11 is true

Options :

92090653925. 1
92090653926. 2
92090653927. 3
92090653928. 4



Question Number : 82 Question Id : 92090613651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyRumUE:
PHYF | : Tb Bl folFd! FHoll faHd @iy A &H g, a8 o i 39 Aredd A iR dud
(@el) BT Fbdl gl

YA || ; faHT aY ST 3tfef 8, HUT & T[oRA Bl YHIGAT Id-1 81 i gril|
I HYA & 3Mdld |, [ S0 710 [deedl § 9 9l v 9u4 Sl

(1) YT AR I

(2) @Y SR I EE T §

(3) YA Td g, Al dYA || A 8
(4) @Y TA B, Al HYA 1| T 8

Options :

92090653925. 1
92090653926. 2
92090653927. 3
92090653928. 4

Question Number : 83 Question Id : 92090613652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  X-rays are used for determination of crystal structure based on
Bragg's law.

Statement I : Particle nature of X-rays is used in the determination of crystal
structure.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement 11 is false

i(4) Statement I 1s false but Statement 11 is true

Options :

92090653929. 1
92090653930. 2
92090653931. 3
92090653932. 4

Question Number : 83 Question Id : 92090613652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R A FyAfRuMUE;
FYT | 90 & FOA F MYR R fihed ST & FuRu & e x-fEon &1 Iugm fear

I

&Y Il : X-TH2olf & o1 & ugld &1 Iudn feeea a1 & Ay & for fasar s g1
TR YA & 3MTdre |, - 13U MU fahedl # 4 Ul I 909 Sifey

(1)
(2)
(3)
(4)

HUF | AR IS T &

HUF | 3R 1| ST S &

HY | T §, AP YA || 3T &
HY | T g, AT PYT 1 TI

Options :

92090653929. 1
92090653930. 2
92090653931. 3
92090653932. 4

Question Number : 84 Question Id : 92090613653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ . In free electron approximation, electron-ion interactions are
neglected.
Statement 11 :  Free electron approximation successfully explains the non-

spherical shape of Fermi surface.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I 18 true but Statement 11 is false

i(4) Statement I 1s falzse but Statement I is true

Options :

92090653933. 1
92090653934. 2
92090653935. 3
92090653936. 4

Question Number : 84 Question Id : 92090613653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R IFFERTME:

HUF| : o sade A Aiaded U, sudei- i S fohdr &1 IUe Bt el 8

HY || . T SAde AAH0 BHI Tdg ST AT Ga- & Shadiyds oIRed &l ¢l
SWIEd HYH & ATalies |, - feu T fadwedl 7 9 et w1 99 Doy

(1) YIRS T &

(2) Y1 SR I EE I §

(3) YT FA g, dfb HYF 1 T B
(4) DU MTH §, Afhd YA | T &



Options :

92090653933. 1
92090653934. 2
92090653935. 3
92090653936. 4

Question Number : 85 Question Id : 92090613654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement I :  When the dimensions of a bulk materials is reduced to nanometer

scale it results in depression of its melting point.

Statement 1 : When the dimensions of a bulk material is reduced to nanometer
scale it result in blue shift of the absorption edge of its UV-visible

spectrum.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement 11 are incorrect
(3 Statement I 1s correct but Statement I1 is incorrect

(4) Statement I is incorrect but Statement 11 is correct

Options :

92090653937. 1
92090653938. 2
92090653939. 3
92090653940. 4

Question Number : 85 Question Id : 92090613654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e FyTRum g
DY : O 0P g Ui & HHR B 441 Hiek THH db HH/Siel [oal ofrar g, O 595

URuITH WEY $9& s § HH gl 21

FYF Il : 99 UF g8 U & ABR &I A4 TAH a6 FH/STe faar 9 ¢, a 396

giomH oy sud g dl. faforad Ween syl fHR1 s Rive g g

IWRIF HYA & Hclid H, Hid S0 770 [deedl & 8 gl 3! 984 Do

(1)
(2)
(3)
(4)

DU | R 11 EH T §
HY | 3R 11 ST 3 &
HYF | T ¢, A HYT 1| 3T §
HY | T &, b YT 11 T B

Options :

92090653937. 1
92090653938. 2
92090653939. 3
92090653940. 4

Question Number : 86 Question Id : 92090613655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement 1 :  When size of a conductor is made less than its mean free path. the

charge transport shifts towards ballestic regime.

Statement I :  When size of a conductor is made less than its mean free path, the

charge transport shifts towards diffusive regime.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement 11 are false
(3 Statement I 1s true but Statement 11 is false

(4) Statement I is false but Statement II is true

Options :

92090653941. 1
92090653942. 2
92090653943. 3
92090653944. 4

Question Number : 86 Question Id : 92090613655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FyERTmE:
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DUl :  Od U dlad & SR &I 39 HiF Bl U1y § BieT fbar 9ra1 g of 381 fagga
qRae fawRur uftag wumredl &1 tie fReys S g

IS YA & 3Maid |, [ 2 710 [deadi 1 4 98l 39! 94 Sifvie

(1) FYHIRISHTIE

(2) YA SR 1 ST T &

(3) ®YF | A g, dih HYF 1| 3 &
(4) DY A g, Alhd HYA | T 8

Options :

92090653941. 1
92090653942. 2
92090653943. 3
92090653944. 4

Question Number : 87 Question Id : 92090613656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Clausius Clapevron Equation is

1P L dP £
1 s .. 9 o A S,
T T (Va—V;) @ 7 L(Vs—W;)
P , dT r
) S, {7 A 7 T A . R
@ Zr=Th-W) b ZF TV, — V)
Options :

92090653945. 1
92090653946. 2
92090653947. 3
92090653948. 4

Question Number : 87 Question Id : 92090613656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T TR HE B

dP L dP L
1 iR DR o 9 R S
1) dT T(Vo-V) ) dT L(Ve-W)
dP dT L
3 — =TLVa - W; 4) —=—
(3) o7 (Va-W1) (4) aP TV, V)
Options :

92090653945. 1
92090653946. 2
92090653947. 3
92090653948. 4

Question Number : 88 Question Id : 92090613657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

(A) Light-Emitting Diode (LED) works under Forward biased condition.

(B) Light-Emitting Diode (LED) emits photons when electron hole recombination
OCCUrs.

(C) LED works under reverse — biased condition.

(D) The process that occurs in LED is reversed in a solar cell.

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only
(2) (A) and (B) Only
(3) (A), (B) and (D) Only
(4) (C) and (D) Only

Options :

92090653949. 1
92090653950. 2
92090653951. 3
92090653952. 4

Question Number : 88 Question Id : 92090613657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hel Yl &1 ygai—g |
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C. UPN-IHuP-SMIS (T 5 8I) IapH fHd fufa & dgd &1 san g
D. TUd$ 3 SR arch ufthar 3ik 39 & Iee ol B
12 fau e fasedl 7 9 el SR &1 994 Hifoe :

(1) &dad B, C3RD
(2) Had A3RB
(3) Fdd A B3HRD
(4) Pad C3RD
Options :

92090653949. 1
92090653950. 2
92090653951. 3
92090653952. 4

Question Number : 89 Question Id : 92090613658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Spring Force (Hook's law) is given by

F==Kd
{A) Hook’s law is a linear relationship between force is a variable force.
(B) Spring force is a variable force.

(C)  If spring is stretched toward positive x — axis then force is negative.

(D)  If spring is compressed towards negative x — axis then force is positive.

Choose the correct answer from the options given below :
(1) (A) and (C) Only

(2) (A) and (D) Only

(3) (A), (B)and (C) Only

(4)  (A), (B). (C) and (D) Only

Options :



92090653953. 1
92090653954. 2
92090653955. 3
92090653956. 4

Question Number : 89 Question Id : 92090613658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 5 (g &1 FFram) g & s g1

F=-kd
A. TP &I W 90 IR TR & di9 0P RGeS day g
B. fOiEd=adz

C. A &I P eFTES X-—3f&f DI 3R Gidl o1l & df ga BUTHD gidl el
D. Ife BT HumTdH® X318 P SR HPHId 811 8 1 I YIHAD gl g
13 fau 7 fasedi # 9 UEl IR &1 904 Fifo -

(1) &ad A3IRC

(2) ad A3RD

(3) Fdd A B3RC

(4) &dd A, B, C3RD
Options :

92090653953. 1
92090653954. 2
92090653955. 3
92090653956. 4

Question Number : 90 Question Id : 92090613659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct in the case of Scanning Tunneling
Microscope (STM).

{A) Invented by Gert Binning and Henrich Rohrer

{(B) Used to study surfaces on atomic scale

() Based on Tunnelling phenomenon

(D) Invented by Ernst Ruska

(E)  Electrons can tunnel only if gap is of micro dimensions

Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only

(2) (B), (C) and (E) Only

(3) (C) and (D) Only

(4)  (A), (B) and (C) Only

Options :

92090653957. 1
92090653958. 2
92090653959. 3
92090653960. 4

Question Number : 90 Question Id : 92090613659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W11 AT AIZH RSB (TH €1 TH/STM) & &R H Tl $U 82

A T8 a7 SR gl Ve grI sifassr B

B. URHI] UHM WR Idgl &1 3ag - & o Iugi fawan a1 g1
C. SIeRIcH @9 (@A) g1 IR uTRd g1

D. URHN aHl cRITH dfY (ed) Hahdl ¢, oid HIgeh! GHH | 811
1< 13 1Y faeredl # 9 Wel IR &1 994 By :

(1) &ad B, C3RD
(2) ad B, C3IRE
(3) Fad C3RD
4) Fad A B3IRC
Options :

92090653957. 1
92090653958. 2



92090653959. 3
92090653960. 4

Question Number : 91 Question Id : 92090613660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is/are incorrect about Fermi-Dirac distribution function?

(A) It gives the probability that an orbital is occupied at any energy E in an ideal
electron gas in thermal equilibrium.

e 1
®  7(E) _fxpl:{f:'t:.:"}f KET]—I

(C)  In expression of f(E). g is independent of temperature.

(D) At all temperatures, f(E) is equal to ¥ when E =g

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2} (B) and (C) only
(3) (B) and (D) only
(4) (B) only

Options :

92090653961. 1
92090653962. 2
92090653963. 3
92090653964. 4

Question Number : 91 Question Id : 92090613660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofafad 7 9 & 91 BHl-fEE oo Baq & R 7 Tad 8

A. O SN Inga § U ey SadeH 19 § [l 9l (F) W U@ offded &
SR 81 &1 Uufiierdr &1 s g

1
J E_rp[{E +u)/ KHT] -1

C. f(E)® i@ 4 daoHH | Wad gl
D. FHMAUAMIWR, f(£) V2 PTG AN o E= 4
14 feu U faseul # 9 ¥l IR &1 98- DIl ;

(1) @ad ASIRC

(2) &ad B3R C

(3) &dd B3R D

(4) &dd B
Options :

92090653961. 1
92090653962. 2
92090653963. 3
92090653964. 4

Question Number : 92 Question Id : 92090613661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a nanomaterial

{A) Graphene

(B) Carbon nanotubes
(C) Graphite

(DY Fullerene

Choose the correct answer from the options given below :

(1) (B) only
(2) (D) only
(3) {A) only
(4)  (C)only

Options :
92090653965. 1



92090653966. 2
92090653967. 3
92090653968. 4

Question Number : 92 Question Id : 92090613661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafefad # 9 1 a1 ua A4 uard 781 82
A, ABH

B. @Id A-lcgd

C. TBRC

D. WeRH
12 fau o fasedi # 9 el ST &1 994 Diferg :

(1) dd B
(2) @&dd D
(3) dd A
(4) dd C
Options :

92090653965. 1
92090653966. 2
92090653967. 3
92090653968. 4

Question Number : 93 Question Id : 92090613662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: . j 1
Free electron theory predicts a constant value of Hall coefficient ie. R, =———

nec
Identify the incorrect statement regarding Hall coefficient (Ru)

(1) Ru is independent of temperature
(2) Ru is independent of pressure
(3) Eu ig independent of relaxation time

(4)  Ruis independent of the strength of magnetic field

Options :



92090653969. 1
92090653970. 2
92090653971. 3
92090653972. 4

Question Number : 93 Question Id : 92090613662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e gt Rigi gl Ui & Us FRR e &1 Gl &l €, 6if R, = -——

nec

(1) R, d99HE ¥ Wdd g 2) R, SEIWIAS
3) R, Ryl IdwTdae @) R, GaD1g &F DI didal A WA 8
Options :

92090653969. 1
92090653970. 2
92090653971. 3
92090653972. 4

Question Number : 94 Question Id : 92090613663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I1 :

List 1 Last IT
(A) Ionic Bond (I) Electron gas
(B) Cowvalent Bond (IT} Electric attraction
(C) Molecular Bond (II1) Vander Waal forces
(D) Metallic Bond (IV) Shared electrons

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(IV), (C)-(I1I), (D)-(1I)
(2)  (A)-(D), (B)-(III), (C)-(IV), (D)-(1I)
(3)  (A)-ID, (B)-IV), (C)-(I), (D)-(1D)
(4)  (A)-(D, (B)-(IV), (C)-(I1I), (D)-(T)

Options :

92090653973. 1
92090653974. 2
92090653975. 3



92090653976. 4

Question Number : 94 Question Id : 92090613663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & Ty G | &1 e Sifor

G-I gt
(A)  HAFE |y () SdaaeET™
(B) ¥E UdN® &Y () fagga sreyu
(C) SMuifdes sy () disT did 9
(D) I &Y (Iv) Wien saae

1 fau v fawedi § § 9El IO &1 904 Hifee:

(1) (A=), B)-(1V), (C)-(Il1), (D)-(I)
(2) (A1), (B)-(l1), (©)-(IV), (D)-(IN)
(3) (A=), (B)-(IV), (C)-(1), (D)-(1D)
(4)  (A)-(1), (B)-(IV), (C)-(1), (D)-(I)

Options :

92090653973. 1
92090653974. 2
92090653975. 3
92090653976. 4

Question Number : 95 Question Id : 92090613664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

Last I Last I
(Crystal structure of the soild) (Packing fraction)
(A) sc (I) 74%
(B) bee (IT) 68%
(C) fec (ITI) 52%
(D) Diamond structure (IV) 34%

Choose the correct answer from the options given below:

(1)  (A)-(IID), (B)-(AV), (C)-(1I), (D)-(T)
(2) (M-I, (B)-(ID), (C)-(I), (D)-(IV)
(3)  (A)-(IID, (B)-(IV), (C)-(1I), (M-(T)
(4)  (A)-@), B)-(II), (C)-(IV), (D)-(1I)

Options :

92090653977. 1
92090653978. 2
92090653979. 3
92090653980. 4

Question Number : 95 Question Id : 92090613664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & a1y gt 1 1 e Sifee
-1 @ & e Iva) et 11 (A 3iw)

(A) sc () 74%
(B) bcc () 68%
€ fec () 52%
(D) SHEHUS =T (IV) 34%

42 fau v fasedi & 9 Tl IR &1 99 DI

(1) (A=), (B)-(IV), (O)-(I), (D)-(n)
(2)  (A)-(lm, (B)-(), (C)-(1). (D)-(IV)
(3)  (A)-(), (B)-(IV), (©)-(1), (D)-(1)
(4)  (A)-(1), (B)-(11), (©)-(V), (D)-(1)

Options :



92090653977. 1
92090653978. 2
92090653979. 3
92090653980. 4

Question Number : 96 Question Id : 92090613665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 ;

List 1 List 1T
(A) Ionic Bonding (I) Argon
(B) Covalent Bonding (I) HF
(C) Hydrogen Bonding (I1T) Na(Cl

(D) Vander Waals interaction (IV) Diamond

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(II), (C)-(I1I), (D)-(IV)
(2)  (A)-(I), (B)-(IV), (C)-(1D), (D)-(I)
(3)  (A)-(III), (B)-(IV), (C)-(I), (D)-(II)
(4) (&), (B)-(I), (C)-(IV), (D)-(11D)

Options :

92090653981. 1
92090653982. 2
92090653983. 3
92090653984. 4

Question Number : 96 Question Id : 92090613665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & 1Y G 11 B e e

(A)
(B)
(€
(D)

-1 BEi]
3fE s () A
HE HaI6® &Y () HF
HESIGRED] () NacCl

dig dld s=ggfhar  (Iv) SHE

2 fau e fasedi & | 9l IR &1 98 DI

(1)
(2)
(3)
(4)

(A)-(1). (B)-(1N), (©)-(1), (D)-(IV)
(A)-(1), (B)-(IV), (©)-(ln), (D)-(1)
(A)-(1), (B)-(1V), (©)-(1), (D)-(I)
(A)-(1), (B)-(11), (C)-(1V), (D)-(li1)

Options :

92090653981. 1
92090653982. 2
92090653983. 3
92090653984. 4

Question Number : 97 Question Id : 92090613666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 ;

(A)
(B)
(©)
(D)

List I List I1

Meizsner effect (I) Broadening of spectral lines
Twin paradox (IT) Perfect dimagnetism
Wave-particle duality (III) Theory of relativity

Heisenberg's uncertainity (IV) De Broglie Hypothesis
principle

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(I1I), (B)-(II), (C)-(IV), (D)-(I)
(A)-(ID), (B)-(II). (C)-(AV), (D)-(I)
(A)-(I), (B)-(1L), (C)-(11L), (D)-(IV)
(A)-(ID), (B)-(IV), (C)-(11T), (D)-(T)

Options :
92090653985. 1



92090653986. 2
92090653987. 3
92090653988. 4

Question Number : 97 Question Id : 92090613666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & Ty gt 1 71 fHeE sifon

gdl-| Tt i
(A) HRR UHE () auf s Y@l &1 hag
B) cfad ARy ay gof ufcgasig
(€) I-H gd (1) e & Rigid
(D) eTgoH & &1 sffAfdaar (v) St sielt Rigia
fagid

2 fau v fasedi # | 91 IR $1 99 DI

(1) (A=), (B)-(), (Q)-(V), (D)-(I)
(2)  (A)-(), (B)-(), (C)-(1V), (D)-(1)
(3)  (A)-(), (B)-(IN), (C)-(1), (D)-(IV)
(4)  (A)-(), (B)-(1V), (C)-(11), (D)-(1)

Options :

92090653985. 1
92090653986. 2
92090653987. 3
92090653988. 4

Question Number : 98 Question Id : 92090613667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I wath List IT :

List I List IT
(A) Mosley's Law (I) A=2d sing,
Where A-wavelength,
d-interplanar spacing,
8-angle
(B) Bragg's Law In A4,T=b

Where An. wavelength,
T-Temperature, b-constant

(C) Curie's Law (IIT) y=CIT,
Where ¥ -susceptability,
C-constant, T-temperature
(D) Wien'’s Displacement Law (1V) /v =a(Z -b)
Where v -frequency,

Z-atomic number, a and b
are constants.

Choose the correct answer from the options given below:

(1) (A)-(AV), (B)-(1), (C)-(I1I), (D)-(11)
(2)  (A)-(IV), (B)-(I), (C)-(ID), (D)-(II)
(3 (A)-), (B)-(IT), (C)-(I1I), (D)-(IV)
(4) (M-I, (B)-(1I), (C)-(I), (D)-(IV)

Options :

92090653989. 1
92090653990. 2
92090653991. 3
92090653992. 4

Question Number : 98 Question Id : 92090613667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It | & 9y gt 1 1 e $ifer

- T -l
(A) HEd &I fAgH () A=2dsing
gl 4= au ey
d = 3R @R WRAT; 9= H0
(B) S I TH () AnT=b
el v &g ; 7= dHH ; b =RRI®
() gt o fan M y=c/a

Wl = IR ; ¢ = RRi®; 7=ddH
(D) FHIfRTEARTA (v) v =a(z-b)

Wel v = 31gfd ; Z= URHT] B ;
a 3R b = RS

1 feu U faeedi # 9 9el I &1 944 DIl

(1) (A=), (B)-(1), (C)-(ll1), (D)-(l1)
(2)  (A)-(V). (B)-(1). (O)-(I1), (D)-(IID)
(3)  (A)-(), (B)-(IN, (©)-(1), (D)-(IV)
(4) (A0, (B)-(l1), (©)-(1). (D)-(IV)

Options :

92090653989. 1
92090653990. 2
92090653991. 3
92090653992. 4

Question Number : 99 Question Id : 92090613668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 ;

Last I List IT
(A) Perfect diamagnetism (I} Hard superconductors
(B) Type-1I superconductors (I) E=0& B=0
(C) Perfect conductors (ITI) Soft superconductors
(D) Type-11 superconductors (IV) p(resistivity) =0

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(III), (C)-(IV), (D)-(1I)
(2)  (A)-AD), (B)-(ID), (C)-(IV), (D)-()
(3)  (A)-AV), (B)-(ID), (C)-(D), (D)-(1II)
(4)  (A)-IID), (B)-(D), (C)-(D), (D)-(IV)

Options :

92090653993. 1
92090653994. 2
92090653995. 3
92090653996. 4

Question Number : 99 Question Id : 92090613668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & Iy = 11 B AEE S

gl Tt
(A) ol ufdd e () B Sffaes (@R Heae)
(B) TTFU-I i AAH W (1) £-0 & B=0

HSFR)

(C) YUl ded (Hedey) () Hg Sffcare® (IR dede)

(D) TIRYU-Il e (@R (V) p @adgddn) =0
HEFR)

1= feu U fawedi § | 9el I &1 994 Dol

(1) (A=), B)-(I), (C)-(IV), (D)-(l)
(2) (A=, (B)-(l), (C)-(IV), (D)-(I)
(3)  (A)-(V), (B)-(11), (C)-(1), (D)-(I1D)
@)  (A)-(1m), (B)-(1n, (C)-(1), (D)-(IV)



Options :

92090653993. 1
92090653994. 2
92090653995. 3
92090653996. 4

Question Number : 100 Question Id : 92090613669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 ;

Last 1 List 11
(A) Trichinic D a=ax#az; a=F=y=90°
(B) Tetragonel (II) ay=az#az; a=H8=90°, y=120°
(C) Cubic (II) ay2az#ag: a2 f#y+90°
(D) Hexagonal (IV) ey=as=as; a=F=y=90°

Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(II), (C)-(I1I), (D)-(IV)
(2)  (A)-II), (B)-(IV), (C)-(110), (D)-(T)
(3)  (A)-(III), (B)-(1), (C)-(IV), (D)-(1II)
(4)  (A)-(IID), (B)-(II), (C)-(D), (D)-(IV)

Options :

92090653997. 1
92090653998. 2
92090653999. 3
92090654000. 4

Question Number : 100 Question Id : 92090613669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 91y g 11 B feE S

(A)
(B)
(€
(D)

-1

HEACNIEED ()

EUIC ] (1)
ENGICED) (1)

YoHIUg @R IHA) (IV)

T -

] =g # a5,
ap =ds #dg,
a; #as # ay,

@ =0z =03,

2 fau e fasedi § | 9l IR &1 98 DI

(1) (A)-0), B)-(1), (©-(m), (D)-(IV)

(2) (A1), (B)-(IV), (O)-(ll1), (D)-()

(3) (A, B)-(1), (O)-(IV), (D)-(I)

(4)  (A)-(), (B)-(1), (CQ)-(), (D)-(IV)
Options :

92090653997. 1
92090653998. 2
92090653999. 3
92090654000. 4

a=F=y=00°
a=gF=90°, y=120°
azfizy=90°

fx:ﬁ:y:ﬂﬂ“



